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1. 15x3 —32x2+3x+2=0

4.5 Rational Root Theorem (Day 2)
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Example: What are the rational roots of 2X — 5x% =2x +5 0
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Step 1: The constant, c, is 5 . Listall factorsof c: = | ) t 5-
Step 2: The leading coefficient, a, is Z . List all factors of a : I ' ’ t Z
% = factorsofc i 1'5
Step 3: List all possible rational fobts + ———————— =
factors ofa’ t
Step 4: Test all possible ratlonal roots. ‘x ' + -\z- s

PEY= 26135 o)t 6 <
(X=-1\

Step 5: Use synthetic division until the ponnomiaI is a quadratic.
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Step 6: Factor the quadratic ar~>d solve.
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4.5 Rational Root Theorem (Day2) HW Name

Use the Rational Root Theorem to list all possible rational roots for each equation. Then find any
actual rational roots.

1. X3—2x*-5x+6=0 2. X¥+x2-17x+15=0

3. X -B5x2—-2x+24=0 4. 23 +5x2+4x+1=0

5. 5 —11x*+7x-1=0 6. 23 —3x*-8x+12=0



4.5 Rational Root Theorem (Day2) HW Name

Warm-Up
Complete the intro. Problem

On the notes.

Divide 2>(4—15XZ—10X:[X 3’]



